Algebra 3/Trigonometry

Final Exam Review


Day 1:  Sections A, B
Day 2:  Sections C, D (1, 2, 4, 5)

Day 3:  Rest of D

A.  Solve for x:
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 (simplify as far as possible WITHOUT a calculator)
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C.  Coordinate Geometry

1.    Write the following in standard form and graph the following completely
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3.  Write the equation of the hyperbola that has foci at (4, 5) and (-4, 5) and has slopes of 
      asymptotes of 
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4.  Write the equation of the conic that has as major axis endpoints (-13, 7) and (-1, 7) and 
      minor axis endpoints (-7, 10) and (-7, 4).

5.  Find the equation of the conic that has width points (12, 3) and (12, 1) and opens left.

6.  Find the equation of the conic that has major axis endpoints (2,0) and (4,0) and a focus 

     at (0,0).  
D.  Trigonometry

1.  Find each of the following:
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2.  If cos x = - 
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, find the values of the other five trig functions.

3.  Graph the following functions completely.
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4.  Prove the identity 
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5.  If 
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6.  Solve the following for 
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Directions:  Set up an equation and isolate the unknown completely.  Do NOT use a calculator.
7.  A triangular parcel of land is bordered on one side by 115 meters of hedges,  and the other by flower beds with lengths of 76 meters and 92 meters.  At what angle do the flower beds meet? 

8.  A triangular parcel of land is bordered on one side by hedges and the other by flower beds with lengths of 76 meters and 92 meters.  If the flower beds meet at an angle of 47.0(, find the length of the hedge border.

9.  Because of prevailing winds, a tree grew s that it was leaning 4( from vertical (ie angle with ground is 94().  At a point 35 meters from the tree, the angle of elevation to the top of the tree is 23(.  Find the height of the tree.  
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